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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1

Ans

Q2

Ans

Q3 mﬁwwwﬁsﬁﬁmﬁﬁaﬁa#ﬁwm%m%

Ans

https://mail.zoho.com/zm/#mail/folder/inbox/p/1537116706640100001

T dcd H A FA 17 ¢, Tg 1 87

An element with an atomic number of 17 is:

T HHAOT €1
2} atransition metal

T gelletet 3T
+', ahalogen gas

Te et

/<3 arare gas
T ST 91
/4. an alkali metal

37 foeT & 999 #Y S R 7T gEeor 7 wea Reg (?) F T o B

2+5+[5+8+(1+3)-11=2

Select the option that can replace the question mark (?) in the following equation.

2+5+[5+8+(1+3)-1] =2

W
o IS o T N S o I G B R %

vy

Select the option that will correctly fit in the blank space of the following figure.

Question ID :9864493074

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864495056

Not Attempted and Marked For
‘Review

Chosen Option__

Status

Question ID :9864495093
Status :Answered
Chosen Option :2
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Q4

Ans

Ans

Q.6

Q.7

NN

Vs

X,
= H O FF feer & FaTeIH &

A) AGH AT FaEsT

B) &g AR T

C) arq 3R AT

Which of the following are bad conductors of electricity?
A) Mica and Quartz

B) Metals and Rubber
C) Metals and Mica

B 3T C Faer
#1 BandC only
A FHaer
W, Aonly
AMRC Faar
#<3 Aand C only
A 3R B Faer
#4 AandB only
IR 3 tand = 2 &, ar 220 o A1 qar Y

2cos8—sing

2 sinf—cosf

If 3tan® = 2, find the value of
<1

2cosf—sind’

k N
R A = R N ]

vy
TH FATACR TGS H HER FHA F5 F AN ¢ | ARG FAAK TG
FT &% 392 T MeX g, A sHHr Fg fonger gefr?
The base of a parallelogram is twice its height. If the area is 392 sq.m, What is its the
height?
14 AreX
¥, 14m
28 AT
<5 28m
12 AT
X3 12m
24 A
<4 24m

Question ID :9864494675

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864494887

Not Attempted and Marked For
‘Review

Chosen Option__

Status

Question ID :9864494881
Status :Answered
Chosen Option :1

Question ID :9864492422
Status :Answered
Chosen Option :3
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AR 2018 & 5T frew afitfhdee o (G fived) FamT F = A
fodr fogea foram amm 2

Who has been appointed as the Chairperson of the Central Board of Film Certification
(CBFC) as of March 20187

Ans
| Anupam Kher

#<, Subhaash Ghai
g el
+'3 Prasoon Joshi
4T d=dd
/<4 Jaya Bachchan
Q.8 A 3'ﬂT Bﬁ;m- FTH F T FT 35% ;3'- q‘:{l' T m é-l A 3T FTH FIaT ?- Question ID :9864493010

Status :Not Attempted and Marked For
Review

3R 2FE F qU FaT § 3R T BIF ST T TE FH FOB 3R T HIAT Chosen Option_
gl FE I F H For 90 T 1 FHT 97T €1 5 A= A 30w T A
EaNT A & TT 90 HA F v Faa fom aea §7

A and B can complete a task together in 35 days. If A works alone and completes z of the

task and then leaves the rest for B to complete by herself, it will take a total of 90 days to
complete the task. How many days would it take A, the more efficient among the duo, to

complete the entire work by herself?
Ans ‘-(-1. 42
x5 48
3. 40
74 45
Q9 3g fFew &1 90 FI 3t 2T v By F Rwor fr ge=ar F gR@EE Fw@r Question ID :9864495095

Status :Answered
%l Chosen Option :4

Select the option that represents the number of triangles in the given figure.

Ans ¥ 18
sz, 14
~<3 17
X416

Status :Answered
Pollen grains are found in: Chosen Option :1

TR

Ans ,
1. anthers

3/22



T TR

<, locule

CIGEIE)
<3 stigma
&S

X4 ovu les

QI g 9189 A 3R B U @rell Tobr &t FHael: 32 3 48 Hel H s Wahd gl e Question D 9864494581

Not Attempted and Marked For
Status 1, .
Review

5 T BT FF FAET FX T g af ST C U H H 64 TET H @relr Chosen Option__
TehdT g1 YTIHTT A, 9 ThT TIe o aF ST A R 9T C Fr ae fmar |
| FO U F qG, T A F a5 X GA 70 o1 AR 3H FHT 98T B F+
1oy X far T o YEr W ge SR A e F AT 112 9 e & 9y

B &I foraer wet @& =y @ T ar?

Two pipes A and B can fill an empty cistern in 32 and 48 hours, respectively. Pipe C can
drain the entire cistern in 64 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours, Pipe A was
turned off and Pipe B was turned on instantly. In all it took 112 hours to fill the cistern. For

how many hours was Pipe B turned on?
Ans KI 77
X, 84
3 72
X4.70

Q12 us s & &, PUZZLING &1 ZZPUGNIL for@r Jmar § 3T JIPIJAPA &r Question ID :9864495053
Not Attempted and Marked For

IPIJAPAJ for@r ST g & 33 iz & SWIZZLED = i forer Smeem? Stats ‘R eview

Chosen Option
If in a certain code language, PUZZLING is written as ZZPUGNIL and JIPITAPA is -
written as IPIJAPAYJ, then what will SWIZZLED be written as in the same code?
Ans & ZIWDSELZ
v, ZIWSDELZ
X3, ZIWSDEZL
X4 ZIWSEDLZ

QI3 A fBrd = & TeT Al gT T oo FiT & m fPTT T T A Question ID :9864493717

Status :Answered

T E"T FT T Ay Feprer 1 g %I Chosen Option :1

CRGH
o Fadl 355 ¢| Wl a7 3 E

s
1. $ 35 o ¢l
2. FT 3% T &

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
Some chairs are desks. All benches are desks.

Conclusions:

1. Some desks are benches.
2. Some desks are chairs.
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1 AR 2 Q= 3repEor a3 &
+'| Both 1 and 2 follow
Fae Ty 2 3TE0T FaT §

#<, Only conclusion 2 follows
T A 1 AT 2 AT FT

3. Either 1 or 2 follows
Sherer Torsehy 1 3TefEROT T &

#<4_Only conclusion 1 follows

Q4 3 faeT 1 ITT F A FEARIRT AT F FH T TIOT F& T Question ID :9864495066

OIROJIONO!

Chosen Option :3
A B C D

Select the option that does NOT belong in the following figure series.

Onoollo!

A B C D

Ans X1 D
VYo A
X3 C
~4.B
Q15w grg ST geuA 15 FelenT &, 4 ms™! & T WA 9T § 7fg &7 @y Question ID 19864494610
i Status Not Attempted and Marked For
gl v g & aifast 3= et 872 ‘Review

Chosen Option__
An object of mass 15 kg is moving with a uniform velocity of 4 ms~*. What is the kinetic :
energy possessed by the object?

60 S

<1607
12 511

Xo 127
1.2 5

X3 127
120 5

V412071
Q16 12 °C 9T o1 ¥ siifes s = 2 &2 Question ID 9864494638

Status :Answered
What is the physical state of water at 12 °C? Chosen Option :3

A= s
xj. Ionic
Kz, Gas
EC)
+ 3 Liquid
;T
74, solid
Q.17 Question ID :9864494868
Not Attempted and Marked For

‘Review
Chosen Option__

Ans

Ans

Status
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RARfRT arolt v a¥ & 25 g=at F o & sdal g ¥ T A
Ty =1 AT AT g 27

o & etadl (Fraame &) | seal i w&r
15 4
2 5
24 8
3 5
3.2 2
3.4 1

The following table shows the gain in weight by 25 children in a year. What is the mean
value of gain in weight?

Gain in weight (in kg) No. of children
1.5 4
2 5
24 8
3 5
32 2
34 1
Ans W 24
%219
X3 2.1
<4 32
Q.18 Question ID :9864495149

Status :Answered
Chosen Option :1

6/22



Ans

Q.19

Ans

Q.20

Ans

Ru 3w Foear &7 # 3ea A 7 § 5 ve 7 afeafga ar e g ag 3R B
Hiaar g7

e A
3c A
/ / \ 1 / |_
QN | W
A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that

Answer Figure?

Problem Figure

Answer Figures

<[>/ / \\ // f{\ 17/
— )‘/ \r/ / \ l":

B C ]

vI|.B
?(2' C
?(3' D
?(4_ A
=AH T FiaT o eI 6 ¥ w2
Which of these numbers is divisible by 6?
X, 56792
<, 23456
X3 34672
V4 45678
SR ST U1 g% AT ot & fer @ 8, e i @ sl fwr 100

FeX 37eT 1 R F FOr KT F Few 25 ms §1 AT B fForer Fr amgfea
w82

A boat at anchor is rocked by waves whose consecutive crests are 100 m apart. The wave
velocity of the moving crests is 25 ms™. What is the frequency of rocking of the boat?

Question ID :9864494554

Not Attempted and Marked For
‘Review

Chosen Option__

Status

Question ID :9864494654

Not Attempted and Marked For
‘Review

Chosen Option

Status
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Q21

Ans

Q22

Ans

Q.23

Ans

625 gt

x| 625Hz
0.25 &=

v, 025Hz
25 gt

<3 25Hz

100 &&=

<4 100 Hz
e # @ FiF O RS Ja = 9fte Fa § 3o FEm?
Which of the following methods will separate water from muddy water?
[Ezscicau
#< Crystallization
JUFFERT P (FAe)
<5 Separating funnel
THIA
3. Distillation
e
¥4 Filtration
v T3, O gag 6 a7 WE §HT W ¥ TRAT T o1, ve e # 5 v
3o T ¥ e ¥ 2 o uP F e e Rmi &eme

A watch gains 5 seconds per minute and was set right at 6 AM. What would be the time
shown on the watch when the correct time is 2 PM?

a9eY 2.40 s
V| 240PM

a9eY 2.20 s
<, 220PM

gy 2.50 T
<3 2.50PM

27T 2.30 T

<4 230PM
ARl AT s o s T/ Tea &

e

A) T 3T # 910 § &0 old HAT, Acdl #hl THE TS Fafehar Igor ue smar g v
T s s g

B) 3mafae arferrr & wag # A= S 92 3A-ang & varafae wfafEar sg s 2
Which of the following statements is/are true or false?
Statements:

A) On moving from left to right in a period, the chemical reactivity of elements first
decreases and then increases.

B) The chemical reactivity of non-metals increases on going down in a group of the
periodic table.

FUT ATEE, AfFAT B TR
+'| Statement A is true, but B is false
FueT A 3k B §l
K'z. Statements A and B are false
FuT ANRBTEE
K3, Statements A and B are true
FUT B WA L, AT A AT B
/<4, Statement B is true, but A is false

Question ID :9864494978

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864494882

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864494663

Not Attempted and Marked For
‘Review

Chosen Option__

Status
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Q4 Rl & ¥ Fia o SRR AR a9
Which of the following is NOT a double displacement reaction?
Ans X BaCl, + H,S0,-> BaSO, + 2HCI
5 CuSO, +H,S - CuS + H,S0,
#<3 NaOH + HCl - NaCl + H,0
', MgzN, + 6H,0 = 3Mg(OH), + 2NH,3
Q25 fyrurae & REdT $f &7 F FT Faa 22
The rate of change of displacement is called:
Tt
#<1 Speed
ECl
W, Velocity
EEU)
K3, Acceleration
Xy
K4, Distance
Q26 g qaadt ST et vF HAET AT H g FY, T wEwrH
AU TEIA $SW (HS.T.TF.) &F gl A6 $H H Ffaseraa far amar
gl

Identify the former ISRO chairman and space scientist who became the first Indian to be
inducted in the International Astron Federation (IAF) Hall of Fame.

35 T T
+'; Udupi Ramachandra Rao
GEEAvTH T

Ans

Ans

<, Subhramniyam Swamy
GIAET ATl WA

K'3. Parmeshwar Lal Saran
oy, fFe FAR

#4. A.S.Kiran Kumar
QY RyfafEm At & ¥ #i7 o g F B F v sw 2

VW {MAWV
A B C D
Select the figure that does NOT belong in the following group.

<<

MAIWV
: C D

X X
o=

W

B
A
.D

X B
v, C

Q28 Srefefras el 3N R @ A IR Sfiae arel JUH AR el Hia

Who is the first Indian cricketer to have grabbed BCCI’s Polly Umrigar Award three

times?
e FEar

1. Virat Kohli

Ans

Question ID :9864494939

Not Attempted and Marked For
‘Review

Chosen Option__

Status

Question ID :9864494609
Status :Answered
Chosen Option :3

Question ID :9864494444
Status :Answered
Chosen Option :2

Question ID :9864494134
Status :Answered
Chosen Option :4

Question ID :9864494480

Not Attempted and Marked For
‘Review

Chosen Option

Status
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aitaa TR
Kz, Gautam Gambhir

TH. TH. i
/3. M. S. Dhoni

wieeT dgee

K4_ Sachin Tendulkar

QY T T Joded A BT A W Tol A ¥ W F & 7 A=aEt F ¥ FF Question ID :9864495048
Status :Answered
o SFdeT # AT % (%')I Chosen Option :2
qoded:

FIAT X o oiwom Fr F 39 Fo F 10 T S Al Fr o F B
FIAGH TIAT AEs TS @ a8 = g

kY]

HldIL:
1. ger ar ST & HEET &3 gl &= ar 2 arw &r g
2. 3T ot 3ReT T Ta ¥

Consider the given statement to be true and decide which of the following assumptions
is/are implicit in the statement.

Statement:
Company X announced that in their company, 10 clerical jobs will be filled, with the
minimum eligibility criteria being bachelor’s degree pass.

Assumptions:
1. Only those who have passed the bachelor’s degree will apply.
2. Masters can also apply.

Irar 1 o 2 AT

Ans
/<1 Either assumption 1 or 2 is implicit.
e Aear 1 A 2
5 Only assumption 1 is implicit.
A=gar 1 3K 2 gt Bfga #
+ 3 Both assumptions 1 and 2 are implicit.
Fae Al 2 AT 2
#< 4. Only assumption 2 is implicit.
Q30 gere FF Mg AL AR WS 9Rd AA FE f@ams W o far Question ID :9864494395
5 Status :Answered
T Ta=0 TSE T & SR & 9 T HI TR har =T T67? Chosen Option :4
On which date Swachh Bharat Mission was started by PM Narendra Modi to fulfill India’s
biggest dream of being a clean nation?
14 F9FT 2014
Ans .
1. 14th Nov 2014
14 FaFsT 2015
/1. 14th NOV 2015
2 Hekqay 2015
3. 2nd OCT 2015
2 37FgeX 2014
4 2nd OCT 2014
Q.31 Faar Question ID :9864494532
37, 1M R 148 71 .. %-9 Status Vot Attempted and Marked For
Find the LCM of 37, 111 and 148. ‘Review
Ans Kﬂl 222 Chosen Option
v 444 ’
X3 424
<4, 296
Q.32 Question ID :9864494512
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Ans

Q.33

Q.34

Ans

Q.35

Ans

Q.36

Ans

Q.37

Ans

162, 54 AT 135 T Agcad TATISAS ohdell g7

The HCF of 162, 54 and 135 is:

X, 0
v, 27
Xs 3
X1
252 + [51- {27- (9- 8+ )] = ?
252 + [51- {27- (9- 8 + 7)}] =2
X, 9
v 14
X3 7
X418
30 T & Tua W S Refa@a wag # o ad
[\.5 4 1 a
1 43 2|2 5|4
ARNIPAR 34 5N\
A B C D
Select the figure that does NOT belong in the following group.
I\ 4 1 3
1 413 2|2 5|4
21\ | /810N | /54 5N
A B C D
X1.D
¥, B
Kﬂj,' C
x: A
e FEt & v galaaar e-famaw @ it olfR &1 ggea s
W F v FealerR g 2l

The is responsible for precision of voluntary actions and for maintaining the
posture and balance of the body.

ey AfETSH
#'1. Mid-brain

qHfETSH
Kz_ Cerebrum

T

#<3_Spinal cord
FFATETSH

2
4 Cerebellum
3ol ofF @ Bleel oare 50 WAHRT ¥ swHr ofda Fr soEr Y |
A conveX lens has a focal length of 50 em. Calculate its power.
X1 1D
X» 3D
¥3 2D
X4 4D
HATT AT Jrer 15 9BY TF S F 12 B H oW Ghdr 31 IEaa® g

¥ P T A 6 TFT WA T H Ay F 3H et wAT F 8w &2

15 pipes, each having the same diameter, can fill a cistern in 12 minutes. How long will it
take for 6 pipes, each with double the original diameter, to fill the same cistern at the same
speed of the flow?

12 A

Kj. 12 minutes

Status :Answered
Chosen Option :1

Question ID :9864492899

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864495100

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864494986
Status :Answered
Chosen Option :3

Question ID :9864494673

Not Attempted and Marked For
‘Review

Chosen Option__

Status

Question ID :9864494842

Not Attempted and Marked For
‘Review

Chosen Option

Status
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10 A=
Kz_ 10 minutes
7.5 faae
V3. 7.5 minutes
9.5 fA=e
K4_ 9.5 minutes
Q38 FraTeT FE T TS A ST AlE I UF 3eET ¥, Bw oRET usw & Question ID :9864492403

Status :Answered

;:|?-|'|'é’ ST &2 Chosen Option :1
The annual buffalo race called Kambala is a festival celebrated in which Indian state?
Falah
|, Karnataka
Fifar
75 Odisha
FT
X3, Kerala
LEIC)
4 Punjab
Q39 fardlr FAET ¥ % T . Question ID :9864495152

Not Attempted and Marked For
Status 1, .
Review

Chosen Option

Ans

AUB N C =
In the usual set notation,

AUBNC) =

Ans K (AUB)Nn (AnQC) =
v, (AUB) n (AUC) =
X3 (AUB)U(AUC) =
X4 AnB)UAN Q) =

Q40 g Tk 25.2 HIeT &&T dR H 11:25 & 3qud & fasnfaa fomar sar § & Question D :9864492865
2 Not Attempted and Marked For

o The Fr am% et gremr? S1atus ‘Review
= Chosen Option
When a wire 25.2 m long is divided in the ratio 11 : 25 the length of the longer piece is: :

15.2 #Arex
A1 152m
7.7 HieT
x'z. 7.7m
18.4 #AreT
<3 184m
17.5 AT
V4 17.5m
Q41 Fry i 7737 ST & AT W g A AN F T Y Question ID :9864495138

Status :Answered
Chosen Option :1

Ans

gehrel : Toltg &dell
Select the pair that is analogous to the given pair of words.

Lawyer : Cross-examine
Ans o ﬂﬁ'ﬂw
Kﬂz, 1T : ot
X, T Fe
Kﬂ4_ =M : Faleld
Q.42 Question ID :9864494711

Status :Answered
Chosen Option :2
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38 =T @ T8 A S AR THE d qEEdT w1 E

[l ]
A B C D
Select the figure that does NOT belong in the following group.

HERR
A B C D
Ans KlB
v>2. D
X3 A
<4 C
U FHrT T A A R A1 @ @5E g T ae-aws N e F
ore v g aftEsar 3mer v 87

The Union Environment Ministry has launched a pilot project for beach clean-up and
development named:

o FoleT
+'| Blue Flag
AT woreT
<, Green Flag
FoireT ST
K'3. Clean India
H=O HH_d
X 4, Swatch Bharat

Ans

QM Rrar T R AR N I T T T s s Re = & @

FlT T FuaT TAT B

Ifg U, V 3 W FucAs T&aT ¢ 3K Z T 856 § af F 7 Z 9cAS 82

e
1.Z2=V-W
2.ZxV=U

Read the following question and decide which of the given statements is/are sufficient to
answer the question.

If U, V and W are negative numbers, and Z is a number, then is Z positive?
Statements:

1. Z=V-W
2. ZxV=U
99 F 3ca¥ &of & forT Ir ar 1 I1 2 gATeT Bl

K.l. Either 1 or 2 is sufficient to answer the question.

bl 1 TS g FETh W2 & 3cal &f & [T 3fhel 2 TATSH o4l &
#<,_1 alone is sufficient while 2 alone is not sufficient to answer the question.

99 F 3ca¥ & & forw 1 3k 2 &t 9T &
#<3 Both 1 and 2 are sufficient to answer the question

IFS 2 TATT § FEF 9 F 3] 3 F AT 3k 1 gUeg A4 ¥

+ 4 2 alone is sufficient while 1 alone is not sufficient to answer the question.

Ans

Q.45

Question ID :9864494417
Status :Answered
Chosen Option :3

Question ID :9864494752
Status :Not Answered

Chosen Option :--

Question ID :9864493592
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Ans

Q.46

Q47

Ans

Q.48

e AR & gger & ek & e
During combustion of unsaturated compounds a _ is seen.
gt ot
| yellow flame
arer st
X2, red flame
S @t
K'3. clean flame
e &t

K4_ blue flame
ofE X 1 HX @FFT FE Y Fear ¢ fk X, Y F A F wHAF 9T = d&a

gAY RarXx®  gen

If pointing at X, Y says that X is the son of the only son of Y’s mother, then Y’s father is

X's .
LG
< 1. Father
2

X, Father-in-law
cleT

'3 Grandfather

K4_Brother
v =17 Tt @ W A ge v o saa gt @ @i @ ey

dIfeheh ¥ & Wed fhT 1 T 81

e

T HEEE, FAA g § W Ui, s g
fors=y:

1. 5 FRAEE, FAET 2 g
2. @it FEew, FREW 8 2
Consider the given statements to be true and decide which of the conclusions logically
followq(s) from the statements.
Statements:
Some offices are companies. All companies are factories.

Conclusions:

1. Some factories are offices.
2. All offices are factories.

oS 1 37rET 2 grog T ST TR B

Kl, Either conclusion 1 or 2 follows.

Faor sy 1 g Bar = mar B
+', Only conclusion 1 follows.
sy 1 3k 2 gEr g e S Fea §

K3, Both conclusions 1 and 2 follow.

Fao sy 2 greg Bar S g g

# 4 Only conclusion 2 follows.

Status :Not Attempted and Marked For
Review
Chosen Option__

Question ID :9864494041

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864495096
Status :Answered
Chosen Option :2

Question ID :9864494919
Status :Answered
Chosen Option :3
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Ans

Q.49

Ans

Q.50

Ans

Q.51

Ans

afe@a & & g Ber siey S & 79 Hi
A.drFT - Cu
B. ®AT - Au

C.911 - Me
D. weifesis - Pt
E. 9ér - Ag
Select the INCORRECT match’s from the following.
. Copper — Cu
Gold — Au
. Mercury — Me
. Platinum — Pt
. Silver — Ag
faw E
OnlyE
D, B 3kt C
<, D,BandC
fak C
Only C
A 3R B
<4 AandB
Torw wfieT: % S Agw foehe - TS @9 ST, AW giEde, aF S8
2g AaUsET ke W ar AR & fhw fhae #r sieHe 2

The book Six Machine: I Don’t Like Cricket — I Love It’ is the autobiography of which
Jamaican cricketer who plays international cricket for the West Indies?
R AEFA FaT
Kj. Darren Michael Bravo
e A=
o, Chris Gayle
T AT
K'3. Sunil Narine
T3 A
X 4. Andre Russell
4 FFIY 6 we Al w1 W 21 Rt 7 AR 9 = & IR 7
FHAY 4 UE 9fafes & w1 §, O T 38 I A e GGt 7 9@ wEr

4 workers working 6 hours per day can finish painting a wall in 21 days. If 7 workers
work for 4 hours per day, in how many days will they be able to finish the same work?

X 28
v, 18
X3 32
X4 24
1241 oraTedYy & FIhcT T3 EFRT ST a7 of THE 143 orarsdy

H Fq9 AME TG ZFR AATAS Foar I

mYOwp

)

The
Qutab Shahi dynasty in the 14" century.
HireT fher
Kl, Fort Kochi
Tz ST
. Mandu Fort
HTIRT e
#<3 AgraFort

was built by the Kakatiya kings of the 12" century which was rebuilt by the

Question ID :9864494449

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864494859
Status :Answered
Chosen Option :2

Question ID :9864492079

Not Attempted and Marked For
‘Review

Chosen Option__

Status

15/22



alrergsT e
¥ 4 Golconda Fort

Q32 5 grer & fow 9faay 9% & surer X foder fham amar Tx 3aem & surer g Question [D 19864494897
Not Attempted and Marked For

FT ¢, o Ty ¥ @ 9 4w ¥ v 99y 7.5% wwer e fRear Status ‘peview
: Chosen Option
%’I X:y@?l -

T x invested at 9% simple interest per annum for 5 years yields the same interest as that on
T y invested at 7.5% simple interest per annum for 4 years. Find x : y.

Ans o 2:3
<, 8:9
<3 45:30
$4.16:15
Q3 g ReseT M TTT N A IWM TE A A @ TERT g I & T 9T Question ID :9864494806

Status :Answered

Igel € | Fafag %I Chosen Option :2

ool : oAt (FeaRdiey) : argHvseT gere

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Electricity : Galvanometer :: Atmospheric Pressure :
HIEAEFRET
K1_ Osmometer
R
¥ > Barometer

ERAERERT

/< 3 Sphygmomanometer

GEETICE

4 Hydrometer
.54 i i tion ID :9864494734
Q mﬁﬁﬂmﬁmmﬁ?@a@#mmmw Question

Status :Answered
Chosen Option :4

Ans

Choose the word which is least like the other words in the group?
HiaT

< | Crow
ERREE]

', Duck
Croy
< 3 Monkey
Fregdr
< 4 Squirrel
Q55 fgw =TT 9Et % FEftE S8 & HUR W HFIedd 9¢ H a9 H Question ID :9864495018

Status :Answered
Chosen Option :4

Ans

RAT : 18120 :: GOD :

Select the missing term based on the given related pair of terms.

RAT :18120::GOD:
Ans Xy 7174
X2 7144
~3. 7164
V4 7154
Q.56 m fl’ @- FT T 9TAT ¥ arer #ﬁ»‘sm I H@'ﬁ?ﬂT ¥ oo Pﬁ' Ha- %—7 Question ID :9864493551

Status Not Attempted and Marked For

Which of the following is NOT true for the reaction of Calcium with water? ‘Review
Ans Chosen Option--
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TSieFoley ITeT AT &H giar &

KL Heat evolved is less

FiowTH T Y F AT §
5 Calcium starts floating

H2 3w e &
#<3 H2 gas is evolved

FfA & I FT I T

4 The reaction is less violent

Q57 feufas w1 3R aifast Tt & AT 1 FF A7 § AT AT 82 Question ID :9864494611

Status :Answered
The sum of potential energy and kinetic energy is known as: Chosen Option :4

eIl FeAT
1 Light energy
fega ==
#<, Electrical energy
TaafEE S
#<3 Chemical energy
TfF FaT
« 4 Mechanical energy
Q58 e oT FHEAT RO # 3caT TN F ¥ R v F afefd fhar ar ¥ 9 Question ID :9864495114

Status :Answered

3o} =T Hiaar %’7 Chosen Option :2

Ans

AT =

=

—
ozl

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

=

—

Answer Figures ‘ ‘
A B C D

Ans Kl C
V2B
K._o,. A
X: D
Q.59 Question ID :9864495061

Status :Answered
Chosen Option :3
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Ans

Q.60

Ans

Q.61

Q.62

Fae@T wa # 9¢ 3k P 1 & 3c) &= ¥ v Sis and T
T g

ATT F TA F TT F4r §2?

I

1. e 1 T FEd &, A F ARG IR AEN B fr
2. THE F FIT Fgd g, Frer H g0 3T g FT 8T T o FT A Fgt g

Read the following question and decide which of the given statements is/are sufficient to
answer the question.

What is the colour of human blood?

Statements:

1. Blue is called pink, red is called orange and orange is called yellow.

2. White is called black, black is called green, green is called brown and brown is

called red.
v

99T FT 3caT &1 & [T &Had &Fed 1 9aeg g, Fa16 I @eheq 2 gaTaT
T 2l

1 alone is sufficient while 2 alone is not sufficient to answer the given question.
X,
T & 3cal &of & [OIT &haol faded 2 TI~T &, ST +adl @deT 1 T~

8 2l
2 alone is sufficient while 1 alone is not sufficient to answer the given question.

99 FT 3ca? &oF & o A1 FereT 1 a1 BeeT 2 g 1
<3 Either 1 or 2 is sufficient to answer the given question.
9o F 3c & F e fFeeT 1 3R 2 gt werary Tog §
<4 Both 1 and 2 together are sufficient to answer the given question.
frfaf@a & @ Fia o sEFEw = &1 tF Wg F@ 8?7
Which of the following is not an example of a biomass energy source?
AT M AMET

/1 Cow dung

s

AT
K'z. Ethanol
EEx]
K3, Wood
GTATI] AT
o 4 Atomic energy
VWY9PONISFSLUDTG61AT, HH & 4R W, foe=fei@d &d § siufeed 3@ a1
T H)
VN, PF, 5U,
On the basis of the sequence VWY9PONISFSLUDTG61AJ, select the missing term from
the following series.
VN, PF, 5U,
~<1 U6
#<, LG
~<3 LT
v, UG

Question ID :9864494956
Status :Answered
Chosen Option :4

Question ID :9864495121

Not Attempted and Marked For
‘Review

Chosen Option

Status

Question ID :9864495072
Status :Answered
Chosen Option :1
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39 T T 999w S BT 70 =T § Rog T | Tgr &1 g1

?

Select the option that will fit in the blank space in the given figure.

?
o, e
x N
x LN
xe N

Select the figure that does NOT belong in the following group.

A B C D
Ans X 1.B
?(2. A
?(3 C
‘_’4_ D
Q64 350 T 58% fahclT BT & ?
58% of 350 is:
Ans ‘_’1_ 203
2, 210
x5 196
<y 217
Q.65 & 315 Mepla & Nard T 7 Tl &1 & dooT arel fadhed & A0 H{

?

Select the option that will correctly fit in the blank space of the given figure.

Ans

Question ID :9864495146
Status :Answered
Chosen Option :2

Question ID :9864494536
Status :Answered
Chosen Option :3

Question ID :9864495158
Status :Answered
Chosen Option :3
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[

&
Y/
B

Xy,
Q66 g FIfAPT TR I HIRFT FT A FgT ST & ?
Which cell organelle is called the Master of the Cell?

AISEIHIgaT

# 1 Mitochondria
FYFeTTer

LY

Ans

<5 Nucleolus
Afae
'3 Nucleus
LEACIEIEE R e C
# 4 Endoplasmic reticulum
Q67 SfFarama T 10fFeIT FeuART @ & AT & AEr Fr I A A
g1 T Temaar g af &l @ 3 I ¥ A W @ 2

Two balls of steel having mass of 5 kg and 10 kg each possess equal kinetic energy.
Which ball is moving faster, if at all?

SRReian aelr @G ot = @ g
«'| The 5 kg ball is moving faster.
At 7 A afy F 7w @&
<, Both the balls are moving at the same speed.
10f&aam® el 3 O 9 @
#<3_ The 10 kg ball is moving faster.
Tt Tt e @ @ W AR 76 = 7
#< 4 Kinetic energy does not depend upon the speed of the body.
Q68 oo WHE W 5 TEW BT TEAHT & Aew 15 §, Safer Wog o T FEamsi
F AT 17 g1 IS 9= SIE TEATHT T BISA G TEATHAT FT AT 18.25 &
ar wHg # For frael wEa o2

The mean of the 5 smallest numbers from a group is 15 while the mean of all the numbers
of the group taken together is 17. If the mean of the numbers leaving the smallest five out

Ans

is 18.25, how many numbers were there in the group in all?
Ans Kﬂl_ 14
Kﬂz' 8
¥ 13
<412
Q69 42 63 3T 105 FT AgcaA WATISAH T &2
The HCF of 42, 63 and 105 is:
Ans & 1.7
5. 630
W3 21

Question ID :9864493395
Status :Not Answered
Chosen Option :--

Question ID :9864494971
Status :Answered
Chosen Option :2

Question ID :9864492918

Not Attempted and Marked For
‘Review

Chosen Option__

Status

Question ID :9864492682
Status :Answered
Chosen Option :1
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X, 63

QG & ¥ 59 Foat = R 2017 & 8IRT TFR SaRT AR FIAT HT ST Yl fonar I/am? Questionggs
Which of the following Eomganjes was bestowed the status of Maharatna company by the government of India in September 20177 I/\\I?ttc
Ans FErST AT 376 3%1'” faes (@lﬂ) Status . 4
X, Steel Authority of India Limited (SAIL) ChosenFor

der 3R gﬁﬁﬁ g e (AroaEhar) Option

Kz, Oil and Natural Gas Corporation (ONGC)
TSET U 9T FraieeT (T
K3. National Thermal Power Corporation (NTPC)
AT YEeE Free Fffes (@ adiee)
+ 4 Bharat Petroleum Corporation Limited (BPCL)

Q7 FardH & Scateniadr (FaEae AH hewe) 3fda & @fEar Sia o2 Question ID :9864494708

Status Not Attempted and Marked For
Who coined the phrase ‘Survival of the Fittest’? ‘Review

B_él'é.' qu Chosen OptiotT__
+'| Herbert Spencer
IR e Fd
<, Gregor Johann Mendel
Ty ST
3. Charles Darwin
ST, gEnfeE gueT
4. Dr. Har Gobind Khorana

Q72 375 & 56% & Questlé);tIuDs 211654331296
56% of 375 is: Chosen Option :2
Ans K 224

¥, 210
<3 168
<4 196

Q73 fy wwEfaag Fwr & AW aUET FoT AW FOT F A £, A AW F0T Question ID :9864494885

Status :Answered
& AT fFaar %‘7 Chosen Option :3

If each of the two equal angles of an isosceles triangle is twice the third angle, the measure
of the third angle is:

Ans Kl 90°

X, 45°

3 36°

X4 72°
QT43H @ T AH FA § N TN FGUER P HeSE HEEER F sk 2@ A 1914 F o R amar am Questionggey o440

What is the name of the canal that connects the Pacific Ocean to the Atlantic Ocean? It was commissioned in the year 1914,  Status :Answered

Ans

e Ontion-
| Panama Canal
@3 | &L
#<> White Sea Canal
T T
K'3_ Kiel Canal
&A@
K'4. Suez Canal
075 512+ fz2— (1= 2)] o s avemmerar Qusion > i
Chosen Option :--

The reciprocal of the value of
-+ 2i- (G-I s
Ans v
2.

=T Y]
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